0021 000000000000000(@OO0)
O0I Q00000200110 70) 600

[1looooooooo

1
(1) 2000y= 2’ ~2+1(1S2<4)0000000000000

22+ 20 -2<0

9 ogoog
20 +x—1>0

@)DDDDD{

(3) AABCODODOOOAB =20BC=3v2—-+60CA=2V3-20000
D0ZA000000000

1
2]z0000020000 2¢% +2(m + )z +m+5=00000000000
0ooo

() 000000000
(2) 20000000000000300000000mO00000

AABCDDDDDAA:45°D4B:60°DBC:aDDDDDDDDDDDDD

(1) AABCOODOOO0OO eOOOO
(2) CADABOOODO «ODDODO



1
(1) y= 722~

;¥ —e+1000000 Oy
1 .
y= 1(1‘ —2)°
1<2<4000000000000000 I}
D0000000yO 1
r=4000010000 O v

r=20000o00000

(2) 01000 (z41)2-320
(z+1+vV3)(z+1-+v3) <0
000 1-V3<e<—14+v3 ---(D
02000  (z+1)(22—1)>0 ® @
1 —— O
0ood r<—1, =<z --
2 CE N\
O0@OO00000000 —i-vs -1 LI
—1+v3

1
—1-V3sa<-1, S <z=-1+V3

(3) 00000

cos A =

goo

0O

CA? + AB? — B(?
T 2CAAB
(2v/3 — 2)2 4+ 22 — (3v/2 — V6)?
2(2v/3 — 2)-2
AV3-1) 1

8(vV3—-1) 2
ZA = 60°



(1)

1 1
o0o0ooooooo x2+(m+1)x+§(m+§ =0

1 1
gboboboooogn (x+§) (:E+m+§ =0

1 1
000000 T=—-, —m— -
2 2
200 0000000000030 oodmbogooogno
300000 -3,-2,-1000 —m—%:—?)—%
1 1
Jogoooogo, 1, 2000 — —523—5
god m = +3
goooooog 2R = BC
sin A
a a
ooQg R= =
2sin45° /2
BC CA
gododod =
sinA sinB
A i ° 6
ogg -4 - © 000 CA:aélnf}O:\/_a
sin 45° sin 60° sin 45° 2

010000000 AB=CAcosA+BCcosB
V3 o1 V341

6
o0g0 AB= £ozcos45°+a(20860° =—a+-a=
2 2 2 2



